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Wnte short answers to any Elghteen (18) from the followmg questzons e 18x2=36 -
= 4 ,
o] \1/ P Write the conJuUate and modulus of ——2- - 5l
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Prove that 1f Z=% . then Z 18 real
Factorize 2x +5372

Express complex number 3 — \/—3_ i 111 polm (trwonomemc) form
Express |Z] =3 and argZ = - 5 in the form X iy

Define improper fraction and given one exaniple:

- - Resolve 7  into partial fraction:

W.t N e 2 +5. .
Tie an aentity eql}alono m .

e 15
(x +_1)2(x¥-2)

Form of partial fraction of

- Define “Binmy Number”.

Convert octal number 1073 to binary numbers
Prove X + X Z =X by BooleanAlgebra rules.

Prove X (X +Y)=XY by Boolean Algebra rules
Prepare a truth table of X(X+Y)=X
Find the co-ordinate of the mid-point of the segment Pl (5.7 Pg, (- 2 3).

~ For the triangle whose ver‘uces are A(O 1), B(7, 2) and C(3.8). Fmd the length of the

median from C to AB.
Find the angle between the lmos havmg slopes --3 and 2

: 3 i
" Find the equation of a lme through the pomt (3,-2) with lepe m=y.

- Find the equation of a line whose perpendwular dlstcm_ce from the origin is 2, and

inclination of the perpendloular is 225°,
Find the equation of the line passing the pomt ( 1,~2) makmg an angle of 135" w1th

~ the x-axis.

Find the point of intersection of the hnes x+2y-3=0, 2x— 3y +8=0 -
Show that the points (1,9), (-2, 3) and (-5, -3) are collinear.
Show that the lines passing through the pomts (O -7) (8, 5) and (5 7) (8 -:3) are

_ perpendicuiar.

Write the equation of circle Wlth centrc at (h k) and radius .

- Find centre and radius of the circle 3 +y +9x Ty ~33=0
‘Reduce the equation into standard form XAy —dx+ 6y—12=0

Find the equation of the c1rcle Whlch touches both the axes of 4t quadrant and
has a radius of 5 units, ‘ . :
' - Contd...... P2
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SECTION-II

Note: Attempt any three (03) questions. : y 3x8=24
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Extract the square root of =3 + 4i.
Write complex number 4 Cis 240° in the form a -+ bi.

1 ; o e
Resolve into partial fraction.

(1-x)(1 —-2x)(1 -3x)

e s . :
Resolve — 1 into partial fraction.
X3 — :

Convert 18 x 24 to binary form and then perform binary multiplication.

Minimize the expression X=ABC +ABC +tAB C +AB C
The point (x, y) is on the x-axis and is 6 units away from the point (1, 4), find x andy.

Find the points trisecting the join of A(-1,4)and B(6, 2)

* Find the equation of the circle Passing through the points (0,1), (3,-3) and (3, -1).
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